Maintenance n CI: TO

® Recommended lights to be turn on between 10 -14 hrs, it will be ideal to turn the AW Enhancine Lif
Lights Reactor on when the main aquarium lights is off. Please ensure pumps are nhancing Lite
running at all times except during maintenance.

® When Chamber is 70-80% full, please harvest its content.

® During harvesting, please off both the lights and pump, ensure power plugs are
remove from wall socket. Lift the strainer to the top of the chamber and flip out the
holder (see diagram).

Lights Reactor

Instruction Manual

LR-150
LR-200

HONYA CO., LTD is committed to continuous product development, we hereby reserve

the right to revise the product specifications or designs without prior notice.

For any further enquiry/assistance and latest product updates,

Please Visit at www.reefoctopus.com.



Explosion Chart

.

A:Lights Holder

A1:Holder Cover
(I
A2:0 ring

A3:Holder

A4:0 ring

B:Reactor Cover

C:Strainer

s
C1:Screw ~

/
C2:Holder /
e

/
/
|
|

D:O ring

F:Chamber

G:Threaded Nozzle
(water inlet)

/S i I:Threaded Nozzle

(water outlet)

J:Outlet Nozzle

M:Lights Adjustable Switch

N:Power Adapter

What is included

LR-150 LR-200
Article Code Items Model No. Qty Model No. Qty

A Lights Holder - 1 - 1

A1l Holder Cover - 1 - 1

A2 O ring 22*5 1 22*5 1

A3 Holder - 1 - 1

Ad O ring 35*3 1 35*3 1

Reactor Cover - 1 - 1

C Strainer - 1 - 1

C1 Screw M5*15 9 M5*15 9

C2 Holder - 9 - 9

D O ring 145*4 1 203*3.5 1

E Screw M8*25 6 M8*25 8

F Chamber - 1 - 1

G Threaded Nozzle 17/20mm 1 20mm 1

H Pump AQ-1200 1 AQ-2000 1

| Threaded Nozzle 20mm 1 Soreomm 1

J Outlet Nozzle - 1 - 1

K O ring 22.2*2.4 1 28.8*3.1 1

L Lights L-410 1 L-410 1

M Lights Adjustable Switch - 1 - 1

N Power Adapter DC12V/2A 1 DC12V/2A 1

Product Specitication
Item No. | Product | Wet/Dry| Diameter Footprint Height | Tank Volume | Power(w)| Pump
mm [inch| mm inch  |mmlinch| L  |US Gal|LED|Pump

130309 | LR-150 | Both | 150 | 5.9 [230|205| 9.1 | 8.1 |510(20.1| 200-600 |52-158 | 18 | 15 |AQ-1200
130310 | LR-200 Both 200 | 7.9 |285|265|11.2|10.4|510|20.1{500-1000 (132-264| 18 | 45 |AQ-2000

®




